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Delay
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Observable just(1, 2, 3, 4).delay(5, TimeUnit.SECONDS).subscribe(RxUtils.getObserver());
try {

Thread.sleep(Integer.MAX _VALUE);
} catch (InterruptedException e1) {

el.printStackTrace();
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//doOnEach
// Observable just(1,2,3,4,5).doOnEach(RxUtils.getObserver()).subscribe();
/**
* onNext:1 Thread:Thread[main,5,main] onNext:2 Thread:Thread[main,5,main] onNext:3 Thre
d:Thread[main,5,main] onNext:4 Thread:Thread[main,5,main] onNext:5 Thread:Thread[main,5
main] onComplete Thread:Thread[main,5,main] */ //doOnNext
// Observable.just(1,2,3,4,5).doOnNext(new Consumer() {

// public void accept(@NonNull Integer integer) throws Exception {
// if(integer>3)
// throw new RuntimeException("error");
// }
// }.subscribe(RxUtils.getObserver());
/**

* onSubscribe Thread:Thread[main,5,main] onNext:1 Thread:Thread[main,5,main] onNext:2 T
read:Thread[main,5,main] onNext:3 Thread:Thread[main,5,main] onError:java.lang.RuntimeExc
ption: error Thread:Thread[main,5,main] */ //doOnSubscribe

// Observable observable = Observable.just(1, 2, 3, 4, 5, 6).doOnSubscribe(new Consumer

) {

// public void accept(@NonNull Disposable disposable) throws Exception {
// System.out.printIn("published");

// }

/D

// observable.subscribe(RxUtils.getObserver());
// observable.subscribe(RxUtils.getObserver());

/**

* published onSubscribe Thread:Thread[main,5,main] onNext:1 Thread:Thread[main,5,main]
nNext:2 Thread:Thread[main,5,main] onNext:3 Thread:Thread[main,5,main] onNext:4 Thread:T
read[main,5,main] onNext:5 Thread:Thread[main,5,main] onNext:6 Thread:Thread[main,5,main
onComplete Thread:Thread[main,5,main] published onSubscribe Thread:Thread[main,5,main]
onNext:1 Thread:Thread[main,5,main] onNext:2 Thread:Thread[main,5,main] onNext:3 Thread:
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hread[main,5,main] onNext:4 Thread:Thread[main,5,main] onNext:5 Thread:Thread[main,5,ma
n] onNext:6 Thread:Thread[main,5,main] onComplete Thread:Thread[main,5,main] */ //doOn
nsubscribe 2.0 has removed instead of
DisposableSubscriber disposableSubscriber = new DisposableSubscriber() {
public void onNext(Long along) {
System.out.printin(along);

public void onError(Throwable throwable) {
System.out.printIn(throwable);

public void onComplete() {
System.out.printIn("onComplete");
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Flowable.interval(1000, TimeUnit.MILLISECONDS).doOnCancel(new Action() {
public void run() throws Exception {
System.out.printIn("doOnCancel");

}
}).subscribe(disposableSubscriber);

disposableSubscriber.dispose();

Materialize/Dematerialize
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Observablejust(1,2,3,4).materialize().subscribe(RxUtils.>getObserver());
Observable.just(1,2,3,4).materialize().dematerialize().subscribe(RxUtils.getObserver());

ObserveOn SubscribOn
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// Observable just(1,2,3,4,5).0bserveOn( Schedulers.newThread()).subscribeOn(Schedulers.c
mputation()).subscribe(RxUtils.getObserver());
Observable just(1,2,3,4,5).subscribeOn( Schedulers.newThread()).subscribeOn(Schedulers.co
putation()).subscribe(RxUtils.getObserver());
try {
Thread.sleep(Integer.MAX VALUE);
} catch (InterruptedException e1) {
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el.printStackTrace();
}

Serialize
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Subscribe
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[RxJava 1.x ( : 1(http://rea
tivex.io/documentation/operators/subscribe.html#collapseRxJava 1.x)

[RxJava 2.x
1(http://reactivex.io/documentation/operators/subscr
be.html#collapseRxJava 2.x)

Timelnterval
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Observable.interval(3, TimeUnit. SECONDS)
timelnterval()
.subscribe(RxUtils.>getObserver());

try {

Thread.sleep(Integer.MAX VALUE);
} catch (InterruptedException e1) {
el.printStackTrace();
}

}

onSubscribe

Thread:Thread[main,5,main]

onNext:Timed[time=3007, unit=MILLISECONDS, value=0]
Thread:Thread[RxComputationThreadPool-1,5,main]
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onNext:Timed[time=3000, unit=MILLISECONDS, value=1]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=3001, unit=MILLISECONDS, value=2]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=3]
Thread:Thread[RxComputationThreadPool-1,5,main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=4]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=2999, unit=MILLISECONDS, value=5]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=6]
Thread:Thread[RxComputationThreadPool-1,5,main]
onNext:Timed[time=3001, unit=MILLISECONDS, value=7]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=8]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=9]
Thread:Thread[RxComputationThreadPool-1,5,main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=10]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=3000, unit=MILLISECONDS, value=11]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=2999, unit=MILLISECONDS, value=12]

Timeout
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Observable.interval(3, TimeUnit.SECONDS)

timeout(2, TimeUnit. SECONDS)
.subscribe(RxUtils.getObserver());

try {
Thread.sleep(Integer.MAX VALUE);

} catch (InterruptedException e1) {
el.printStackTrace();

}

onSubscribe

Thread:Thread[main,5,main]
onError;java.util.concurrent.TimeoutException
Thread:Thread[RxComputationThreadPool-1,5main]

Timestamp
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Observable.interval(3, TimeUnit.SECONDS)
timestamp()
.subscribe(RxUtils.>getObserver());

try {
Thread.sleep(Integer.MAX VALUE);
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} catch (InterruptedException e1) {
el.printStackTrace();

}

onSubscribe

Thread:Thread[main,5,main]

onNext:Timed[time=1500432643307, unit=MILLISECONDS, value=0]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=1500432646306, unit=MILLISECONDS, value=1]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=1500432649306, unit=MILLISECONDS, value=2]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=1500432652306, unit=MILLISECONDS, value=3]
Thread:Thread[RxComputationThreadPool-1,5main]
onNext:Timed[time=1500432655307, unit=MILLISECONDS, value=4]

Using
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Observable.interval(3, TimeUnit.SECONDS)
.using(new Callable() {
public Long call() throws Exception {
return Long.valueOf(2);
}
}, new Function, ObservableSource>() {
public ObservableSource apply(@NonNull Long aLong) throws Exception {
return new ObservableSource() {
public void subscribe(@NonNull Observersuper Long> observer) {
observer.onNext(Long.valueOf(2));
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}, new Consumer() {
public void accept(@NonNull Long aLong) throws Exception {
System.out.printIn(aLong);

)
.subscribe(RxUtils.getObserver());

try {
Thread.sleep(Integer.MAX _VALUE);

} catch (InterruptedException e1) {
el.printStackTrace();

}

onNext:2
Thread:Thread[main,5,main]
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